M1L2.1 Graphing absolute values NOTES

Daily Quiz
Find the inverse Find the Domain &
of the function. Range.
2
F)=5x+3 "'
_ 2z )
g) 5 %x—i’S :

P /
KK [ ERERE]
; X
-3

2N 7 ' !
29 _

2 d=y

f’(x)t g-x*i

Absolute value is written as |x|, represents the distance
between x, and 0 on a number line. As a distance, absolute
value is always positive. For every point on a number line,
there is another point on the opposite side of 0 that is the same
distance from 0.
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For example; both 5-and ~5are five
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IS[=s. —5 0 5

@LEi_leq Predict what the graph of each function will look like, and then sketch
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the graph of the function

The graph of g,(x) = | x| 4 6 will be the graph of f(x) = | x| \K\O
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The graph of g,(x) = | x| — 4 will be the gravh pf f(x) = | x| %
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MI1:12.1 Graphing Absolute Value Functions

Objective:| We will be able to identify the features of the graph of
an absolute value function.

Graphing Absolute Value Functions

You can apply general transformations to absolute value functions by changing
parameters in the equation .
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@‘@ Predict what the graph of each function will look like, and then sketch

®

the graph of the function
The graph of g,(x) = | x — 3| will be the graph of f(x) = |x|
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M1L2.1 Graphing absolute values NOTES

@@ Predict what the graph of each function will look like, and then sketch
the graph of the function

@ The graph ofgl(;k = % | x| will be the graph of f(x) = | x| compressed

\
Yope = 74 > vle8)
The graph of g,(x) = —3| x| will be the graph of f(x) = | x| stretched
SIOPC = ;5. \;/ and reflected
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xamplg Predict what the graph of each function will look like, and then sketch
the graph of the function VA
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The graph of f(x) =-2|x+1|-3
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@@ Predict what the graph of each function will look like, and then sketch

the graph of the funct’ + 037“
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The graph of f(x) =|x+2|-2
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Given the function 8(X) = “|% (x—h) | +% | find the vertex of the graph. Use the vcrlcxaﬂ
o

wo other points to help you graph g(x) v

g(x) =3|x-2|-2
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